
Anisotropic atomic displacement parameters (Å2) for NASHITE. 

The anisotropic atomic displacement factor exponent takes the form: -2π2[ h2 a*2 U11 + ... + 2 h 
k a* b* U12 ] 

    U11     U22     U33     U23     U13     U12 

V1 0.0226(3) 0.0134(3) 0.0139(3) -0.0012(2) 0.0116(2) -0.0023(2) 
V2 0.0247(3) 0.0137(3) 0.0132(3) -0.0029(2) 0.0105(2) -0.0037(2) 
V3 0.0277(3) 0.0139(3) 0.0138(3) -0.0014(2) 0.0127(2) -0.0031(2) 
V4 0.0280(3) 0.0141(3) 0.0180(3) -0.0015(2) 0.0143(3) -0.0052(2) 
V5 0.0263(3) 0.0159(3) 0.0162(3) -0.0011(2) 0.0113(2) 0.0006(2) 
Ca 0.0191(3) 0.0207(4) 0.0243(4) -0.0016(3) 0.0130(3) -0.0005(3) 
Na 0.0306(8) 0.0464(9) 0.0328(8) -0.0046(7) 0.0164(7) -0.0048(7) 
O1 0.0250(12) 0.0203(12) 0.0178(12) -0.0014(10) 0.0110(10) 0.0004(10) 
O2 0.0275(12) 0.0194(12) 0.0187(12) -0.0006(10) 0.0148(10) -0.0038(10) 
O3 0.0252(12) 0.0142(11) 0.0140(11) -0.0013(9) 0.0120(10) -0.0021(9) 
O4 0.0206(11) 0.0145(11) 0.0119(11) -0.0015(9) 0.0079(9) -0.0013(9) 
O5 0.0234(12) 0.0131(11) 0.0137(11) -0.0013(9) 0.0104(10) -0.0021(9) 
O6 0.0303(13) 0.0197(12) 0.0149(11) -0.0031(10) 0.0115(10) -0.0016(10) 
O7 0.0274(12) 0.0147(11) 0.0160(11) -0.0021(9) 0.0110(10) -0.0059(10) 
O8 0.0309(13) 0.0158(12) 0.0164(11) -0.0010(9) 0.0139(10) 0.0006(10) 
O9 0.0353(13) 0.0186(12) 0.0156(12) -0.0012(10) 0.0131(11) -0.0023(10) 
O10 0.0281(12) 0.0154(12) 0.0139(11) 0.0001(9) 0.0078(10) 0.0013(10) 
O11 0.0316(13) 0.0166(12) 0.0186(12) -0.0013(10) 0.0163(10) -0.0050(10) 
O12 0.0354(14) 0.0213(13) 0.0284(13) -0.0001(11) 0.0199(12) -0.0078(11) 
O13 0.0315(13) 0.0124(11) 0.0170(12) 0.0005(9) 0.0125(10) -0.0020(10) 
O14 0.0336(14) 0.0223(13) 0.0255(13) 0.0010(11) 0.0131(11) 0.0073(11) 
OW1 0.0197(12) 0.0244(13) 0.0341(15) 0.0042(11) 0.0119(11) -0.0002(10) 
OW2 0.0239(13) 0.0371(15) 0.0212(13) -0.0028(11) 0.0143(11) -0.0008(11) 
OW3 0.0240(13) 0.0326(15) 0.0380(16) -0.0044(13) 0.0132(12) 0.0037(12) 
OW4 0.0293(15) 0.0583(19) 0.0510(19) -0.0148(15) 0.0264(14) -0.0076(14) 
OW5 0.0302(14) 0.0402(16) 0.0299(15) -0.0011(12) 0.0211(12) -0.0025(12) 
OW6 0.0423(18) 0.0410(19) 0.083(2) -0.0182(18) 0.0306(18) -0.0077(15) 
OW7 0.0398(16) 0.0462(18) 0.0261(14) 0.0008(13) 0.0190(13) -0.0123(13) 
OW8 0.0255(13) 0.0227(13) 0.0288(14) 0.0033(11) 0.0062(11) 0.0037(11) 
OW9 0.0356(16) 0.0442(18) 0.0387(16) -0.0104(14) 0.0128(14) -0.0038(13) 
OW10 0.0378(16) 0.0378(17) 0.0321(15) -0.0150(13) 0.0163(13) -0.0094(13) 
OW11 0.075(3) 0.047(2) 0.073(3) 0.0090(19) 0.038(2) 0.0031(18) 
OW12 0.0528(17) 0.0204(14) 0.0321(15) 0.0073(12) 0.0170(14) 0.0021(13) 
Na2 0.032(2) 0.043(2) 0.093(3) -0.031(2) 0.037(2) -0.0133(15) 


